Appendix 6:

A Comparison of the Four and Five Cluster Solutions

Five Cluster Solution

1=Welsh | 2=Welsh 3= Second 4= English 5= Total
medium 1 | medium 2 |Language Welsh| medium |Bilingual | Schools
1=Bilingual 0 0 0 0 22 22
0.0% 0.0% 0.0% 0.0%| 100.0%| 100.0%
Four 2=Welsh 155 230 0 0 0 385
medium
Cluster 40.3% 59.7% 0.0% 0.0% 0.0%]| 100.0%
Solution|3=Second 0 0 102 0 0 102
Language
Welsh
0.0% 0.0% 100.0% 0.0% 0.0%| 100.0%
4=English 0 3 0 749 0 752
medium
0.0% 0.4% 0.0% 99.6% 0.0%| 100.0%
Total 155 233 102 749 22 1261
Schools
12.3% 18.5% 8.1% 59.4% 1.7%| 100.0%




